
Choice with multiple alternatives
Derivation of the logit model

Michel Bierlaire

Introduction to choice models



The error term

For all i ∈ Cn

Uin = Vin + εin

◮ What is Cn?

◮ What is εin?

◮ What is Vin?



Error terms

Logit: same assumptions as for binary logit
εin are

◮ independent and

◮ identically distributed,

◮ extreme value EV(0,µ).

Comments

◮ Independence: across i and n.

◮ Identical distribution: same scale parameter µ across i and n.

◮ For estimation, scale is normalized: µ = 1.


